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https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb


1. Give the term for the graph showing the

pattern of growth of a population.

View Text Solution

2. Name two types of growth curves.

Watch Video Solution

3. What is population explosion?

View Text Solution

https://dl.doubtnut.com/l/_JkCtLdXnNWiv
https://dl.doubtnut.com/l/_Un8JdR87Jfaw
https://dl.doubtnut.com/l/_umtng6KlvF45


4. Give the term for the rapid decline of a

population within short period.

View Text Solution

5. Maximum power of reproduction under

ideal conditions is called___

Watch Video Solution

https://dl.doubtnut.com/l/_umtng6KlvF45
https://dl.doubtnut.com/l/_syldDp6RQW9c
https://dl.doubtnut.com/l/_FMCz2Gmn2Ghq


6. Which factor checks the biotic potential to

be realized?

View Text Solution

7. What was sex ratio according to 2011

census?

Watch Video Solution

8. Define demography

https://dl.doubtnut.com/l/_UjurD9wM6r1P
https://dl.doubtnut.com/l/_Y2GNS8vScUlt
https://dl.doubtnut.com/l/_muaTjXsou73Z


Watch Video Solution

9. Since which year, human population has

entered exponential phase?

View Text Solution

10. What is per cent rate of growth of human

population in the world?

View Text Solution

https://dl.doubtnut.com/l/_muaTjXsou73Z
https://dl.doubtnut.com/l/_q6uB4TpALKND
https://dl.doubtnut.com/l/_OpKvIvYJI3Ak
https://dl.doubtnut.com/l/_mlwP7UACSQnY


11. Which two countries have significantly

decreased their birth rates?

View Text Solution

12. What was human population in India

according to 2011 census?

View Text Solution

https://dl.doubtnut.com/l/_mlwP7UACSQnY
https://dl.doubtnut.com/l/_elOf1kzLWmLO


13. Which state of India has the highest and

the lowest population density as per 2011

census?

Watch Video Solution

14. On which date, Indian population touched

one billion mark?

Watch Video Solution

https://dl.doubtnut.com/l/_XxuHSCwLZMD9
https://dl.doubtnut.com/l/_4kyS6srYv1t0


Practice Prroblems Causes Ill Effects And Control

Of Overpopulation

15. Which day is celebrated as World

Population Day?

Watch Video Solution

1. What is main cause of population explosion

in India?

Watch Video Solution

https://dl.doubtnut.com/l/_lGZSCpOT3ZQd
https://dl.doubtnut.com/l/_6Qnz8ZfblnKc


2. Name two causes which have declined the

death rate.

Watch Video Solution

3. List four ill-effects of overpopulation

Watch Video Solution

4. What is effect of overpopulation on per

capita income?

https://dl.doubtnut.com/l/_eTWLNIzumE6w
https://dl.doubtnut.com/l/_gZOP9LgyN3fn
https://dl.doubtnut.com/l/_WzAJxzEWH1AY


View Text Solution

5. Who wrote an essay on human population?

View Text Solution

6. What is replacement rate?

View Text Solution

7. Expand the term ZPG.

https://dl.doubtnut.com/l/_WzAJxzEWH1AY
https://dl.doubtnut.com/l/_xBmBj82AvKA6
https://dl.doubtnut.com/l/_9QKVr0XmW8hL
https://dl.doubtnut.com/l/_Qffw7e1nhVtF


Watch Video Solution

8. List two factors which hinder the measures

to control human population in India

Watch Video Solution

9. Which state of India has the highest literacy

rate?

Watch Video Solution

https://dl.doubtnut.com/l/_Qffw7e1nhVtF
https://dl.doubtnut.com/l/_ZWubLhEDcrUv
https://dl.doubtnut.com/l/_ojIzBIui1ifi
https://dl.doubtnut.com/l/_55wMYRnlXl9P


10. Expand the term IUDS.

Watch Video Solution

11. What is significance of IUDs.

Watch Video Solution

12. What chemicals are present in birth control

pills?

Watch Video Solution

https://dl.doubtnut.com/l/_55wMYRnlXl9P
https://dl.doubtnut.com/l/_8Q5nzxr8gllu
https://dl.doubtnut.com/l/_ooYT3rbLqvTe


13. Expand the term MTP

Watch Video Solution

14. Give the term for cutting of vas deferens of

male and fallopian tube of female.

Watch Video Solution

https://dl.doubtnut.com/l/_ooYT3rbLqvTe
https://dl.doubtnut.com/l/_Qtbov4d0GLx5
https://dl.doubtnut.com/l/_nZGEW3yhAq9L


15. Give the term for pre-natal diagnostic

technique aimed to know the sex of

developing foetus and congenital disorders'

Watch Video Solution

16. Name the first test tube baby produced in

England.

Watch Video Solution

https://dl.doubtnut.com/l/_fQp4shzeYthc
https://dl.doubtnut.com/l/_3y9TbQuQwmNr


Practice Prroblems Sexually Transmitted Diseases

17. Name the female used to bring up in vitro

fertilized ovum to maturity.

Watch Video Solution

1. What are STDs?

Watch Video Solution

https://dl.doubtnut.com/l/_gm2K3AdYszGY
https://dl.doubtnut.com/l/_h0eCvpjytaSw


2. Name two STDs.

Watch Video Solution

3. What is causative agent of syphilis?

Watch Video Solution

4. Give the cause of the disease characterized

by leucorrhoea.

Watch Video Solution

https://dl.doubtnut.com/l/_CQ0X5hC4KsV0
https://dl.doubtnut.com/l/_0TnfKCPSSmWV
https://dl.doubtnut.com/l/_0HdyiqaT5iMO


Ncert File Exercise Question

5. Against which disease Acyclovir drug is

used?

Watch Video Solution

6. Name most common sexually transmitted

disease.

Watch Video Solution

https://dl.doubtnut.com/l/_0HdyiqaT5iMO
https://dl.doubtnut.com/l/_impd5ebUMpEs
https://dl.doubtnut.com/l/_LcAy7KmIehts


1. What do tou think is the significance of

reproductive health in a socieity ?

Watch Video Solution

2. Suggest the aspects of reproductive health

which need to be given special attention in

the present scenario.

Watch Video Solution

https://dl.doubtnut.com/l/_kS8WsP4yaEiN
https://dl.doubtnut.com/l/_BeC5ouNM4lzW
https://dl.doubtnut.com/l/_oGMbeDSIDpKc


3. Is sex education necessary in schools? Why?

Watch Video Solution

4. Do you think that reproductive health in our

country has improved in the past 50 years?

View Text Solution

5. What are the suggested reasons for

population explosion?

Watch Video Solution

https://dl.doubtnut.com/l/_oGMbeDSIDpKc
https://dl.doubtnut.com/l/_pZSL7yW3Pw4r
https://dl.doubtnut.com/l/_SwYjKdZfQfMh


6. Is the use of contraceptives justified ? Give

reasons.

Watch Video Solution

7. Removal of gonalds cannot be considered as

contraceptive option. Why ?

Watch Video Solution

https://dl.doubtnut.com/l/_SwYjKdZfQfMh
https://dl.doubtnut.com/l/_OYB8T79sJLbU
https://dl.doubtnut.com/l/_1oH0JJv7fITh


8. Amniocentesis for sex determination is

banned in our country. Is this ban necessary?

Comment.

Watch Video Solution

9. What are the measures one has to take to

prevent from contacting STDs?

Watch Video Solution

https://dl.doubtnut.com/l/_84oAOxbD0Iv3
https://dl.doubtnut.com/l/_1SBvZL6512gl


Ncert File Exercise Question

10. Suggest some methods to assist infertile

couples to have children.

Watch Video Solution

1. Abortions could happen spontaneously too.

(True/False)

Watch Video Solution

https://dl.doubtnut.com/l/_qDjpstiqGOeU
https://dl.doubtnut.com/l/_AIvSkmvyAJw8
https://dl.doubtnut.com/l/_hSzwgDdoc9Nq


2. Infertility is defined as the inability to

produce a viable offspring and is always due

to abnormalities/defects in the female partner.

(True/False)

Watch Video Solution

3. Complete lactation could help as a natural

method of contraception. (True/False)

Watch Video Solution

https://dl.doubtnut.com/l/_hSzwgDdoc9Nq
https://dl.doubtnut.com/l/_MZgAIRXJoOKe
https://dl.doubtnut.com/l/_7KWTMmDNA0FM


4. Creating awareness about sex related

aspects is an effective method to improve

reproductive health of the people. (True/False)

Watch Video Solution

5. Correct the following statements : 

(a) Surgical methods of contraception prevent

gamete formation. 

(b) All sexually transmitted diseases are

completely curable. 

(c ) oral pills are very popular contraceptives

https://dl.doubtnut.com/l/_7KWTMmDNA0FM
https://dl.doubtnut.com/l/_9nCkdhBdgsCn


Ncert File Exemplar Problme A Multiple Choice

Question

among the rural women. 

(d) In E.T. techniques, embryos are always

transferred into the uterus.

Watch Video Solution

1. The method of directly injecting a sperm

into ovum in assisted reproductive technology

is called

https://dl.doubtnut.com/l/_9nCkdhBdgsCn
https://dl.doubtnut.com/l/_4phXRJJFcF6M


A. GIFT

B. ZIFT

C. ICSI

D. ET

Answer: C

Watch Video Solution

2. Increased IMR and decreased MMR in a

population will

https://dl.doubtnut.com/l/_4phXRJJFcF6M
https://dl.doubtnut.com/l/_2eKnAvsZcp3b


A. Cause rapid increase in growth rate

B. Result in decline in growth rate

C. Not cause significant change in growth

rate

D. Result in an explosive population

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_2eKnAvsZcp3b


3. Intensity lactating mothers do not generally

conceive due to the

A. Suppression of gonadotropins

B. Hypersecretion of gonadotropins

C. Suppression of gametic transport

D. Suppression of fertilisation

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_OBOPCCYxYwb8
https://dl.doubtnut.com/l/_6ZVfvC2gmsgj


4. Sterilisation techniques are generally full

proof methods of contraception with least

side effects. Yet, this is the last option for the

couples because 

(i) It is almost irreversible 

(ii) of the misconception that it will reduce

sexual urge/drive 

(iii) it is a surgical procedure 

(iv) of lack of sufficient facilites in many parts

of the country 

Choose the correct option

A. (i) and (iii)

https://dl.doubtnut.com/l/_6ZVfvC2gmsgj


B. (ii) and (iii)

C. (ii) and (iv)

D. (i), (ii), (iii) and (iv)

Answer: D

Watch Video Solution

5. A national level approach to build up a

reproductively healthy society was taken up in

our country in

https://dl.doubtnut.com/l/_6ZVfvC2gmsgj
https://dl.doubtnut.com/l/_AqIBw5pZlA38


A. 1950s

B. 1960s

C. 1980s

D. 1990s

Answer: A

Watch Video Solution

6. Emergency contraceptives are effective if

used within

https://dl.doubtnut.com/l/_AqIBw5pZlA38
https://dl.doubtnut.com/l/_XFVl6c5tJfFB


A. 72 hrs of coitus

B. 72 hrs of ovulation

C. 72 hrs of menstruation

D. 72 hrs of implantation

Answer: A

Watch Video Solution

7. Choose the right one among the statements

given below.

https://dl.doubtnut.com/l/_XFVl6c5tJfFB
https://dl.doubtnut.com/l/_hTOs1rI4iVb5


A. IUDs are generally inserted by the user

herself

B. IUDs increase phagocytosis reaction in

the uterus

C. IUDs suppress gametogenesis

D. IUDs once inserted need not be replaced

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_hTOs1rI4iVb5


8. Following statements are given regarding

MTP. Choose the correct options given below. 

(i) MTPs are generally advised during first

trimester 

(ii) MTPs are used as a advised during first

trimester 

(iii) MTPs are always surgical 

(iv) MTPs require the assistance of qualified

medical personnel.

A. (ii) and (ii)

B. (i) and (iii)

https://dl.doubtnut.com/l/_WO0x8via2sGp


C. (i) and (iv)

D. (i) and (ii)

Answer: C

Watch Video Solution

9. From the sexually transmitted deseases

mentioned below, identify the one which does

not specifically affect the sex organs.

A. Syphilis

https://dl.doubtnut.com/l/_WO0x8via2sGp
https://dl.doubtnut.com/l/_nQlugyC4wLRq


B. AIDS

C. Gonorrhoea

D. Genital warts

Answer: B

Watch Video Solution

10. Condoms are one of the most

contraceptives because of the following

reasons

https://dl.doubtnut.com/l/_nQlugyC4wLRq
https://dl.doubtnut.com/l/_NnJTepekixec


A. These are effective barriers for

insemination

B. They do not interfere with coital act

C. These help in reducing the risk of STDs

D. All of the above

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_NnJTepekixec


11. Choose the correct statement regarding

the ZIFT procedure

A. Ova collected from a female donor are

transferred to the fallopian tube to

facilitate zygote formation.

B. Zygote is collected from a female donor

and transferred to the fallopian tube

C. Zygote is collected from a female donor

and transferred to the uterus

https://dl.doubtnut.com/l/_otTJOSQ2Idqa


D. Ova collected from a female donor and

transferred to the uterus.

Answer: B

Watch Video Solution

12. The correct surgical procedure as a

contraceptive method is

A. Ovariectomy

B. Hysterectomy

https://dl.doubtnut.com/l/_otTJOSQ2Idqa
https://dl.doubtnut.com/l/_FJ15WTOnDRMf


C. Vasectomy

D. Castration

Answer: C

Watch Video Solution

13. Diaphragms are contraceptive devices used

by the females. Choose the correct option

from the statements given below 

(i) They are introduced into the uterus 

(ii) They are placed to cover the cervical region

https://dl.doubtnut.com/l/_FJ15WTOnDRMf
https://dl.doubtnut.com/l/_bE7wn3Sxb16j


(iii) They acts as physical barriers for sperm

entry 

(iv) They act as spermicidal agents.

A. (i) and (ii)

B. (i) and (iii)

C. (i) and (iii)

D. (iii) and (iv)

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_bE7wn3Sxb16j


Ncert File Exemplar Problme B Very Short Answer

Type Questoin

1. Reproductive health refers only to healthy

reproductive functions. Comment

Watch Video Solution

2. Comment on the reproductive and child

healthcare programme of the government to

improve the reproductive health of the people.

Watch Video Solution

https://dl.doubtnut.com/l/_rrBa7F5ikQl3
https://dl.doubtnut.com/l/_rvHxjWsSpeN4


3. The present population growth rate in India

is alarming. Suggest ways to check it.

Watch Video Solution

4. STDs can be conidered as self -invited

diseases. Comment.

Watch Video Solution

https://dl.doubtnut.com/l/_rvHxjWsSpeN4
https://dl.doubtnut.com/l/_o9oaSZymw9iP
https://dl.doubtnut.com/l/_167F6Ghst6YL


5. Suggest the reproduction -releated aspects

in which counselling should be provided at the

school level.

Watch Video Solution

6. Mention the primary aim of the 'Assisted

Reproductive Technology'(ART) programme.

Watch Video Solution

https://dl.doubtnut.com/l/_wyAslLuR55R3
https://dl.doubtnut.com/l/_bvt730a7gAEv


7. What is the significane of progesterone-

estrogen combination as a contraceptive

measure ?

Watch Video Solution

8. Strict conditions are to be followed in

Medical Termination of Pregnancy (MTP)

procedures. Mention two reasons.

Watch Video Solution

https://dl.doubtnut.com/l/_ZgoZvqs0bLXp
https://dl.doubtnut.com/l/_zhyvyK09xsIA
https://dl.doubtnut.com/l/_K6wqYmGGp3UD


Ncert File Exemplar Problme C Short Answer Type

Questoin

9. Males in whom testes fail to descend to the

scrotum are generally infertile. Why?

Watch Video Solution

10. Mention two advantages fo lactotional

amenorrhea as a contraceptive method.

Watch Video Solution

https://dl.doubtnut.com/l/_K6wqYmGGp3UD
https://dl.doubtnut.com/l/_rMSGIIiysnfo


1. Suggest some important steps that you

would recommend to be taken to improve the

reproductive health standards in India

Watch Video Solution

2. The procedure of GIFT involves the transfer

of female gamete to the fallopian tube. Can

gametes be transferred to the uterus to

achieve the same result ? Explain.

Watch Video Solution

https://dl.doubtnut.com/l/_oQsFQTB8kkRh
https://dl.doubtnut.com/l/_zT2bSSMopshw


3. Copper ion releasing IUDs are more efficient

than non-medicated methods. Why ?

Watch Video Solution

4. What are the probable factors that

contributed to population explosion in India ?

Watch Video Solution

https://dl.doubtnut.com/l/_zT2bSSMopshw
https://dl.doubtnut.com/l/_yQZG528Foq9I
https://dl.doubtnut.com/l/_GaIJIqzpTUTG


5. Briefly explain IVF and ET, What are the

conditions in which these methods are

advised?

Watch Video Solution

6. What are the advantages of natural

methoods of contraception over artificial

methods ?

Watch Video Solution

https://dl.doubtnut.com/l/_4BVlthwbvqp4
https://dl.doubtnut.com/l/_BpT5ZVCfzi0s
https://dl.doubtnut.com/l/_5zwonwh1p97S


7. What are the conditions in which medical

termination of pregnancy is advised ?

Watch Video Solution

8. Comment of the essential features required

for and ideal contraceptive.

Watch Video Solution

https://dl.doubtnut.com/l/_5zwonwh1p97S
https://dl.doubtnut.com/l/_jNIWLpMtKJvY


Ncert File Exemplar Problme D Long Answer Type

Questoin

9. All reproductive tract infections RTIs are

STDs, but all STDs but all STDs are not RTIs.

Justify with example

Watch Video Solution

1. What are the assisted reproductive

techniques practised to help infertile couples?

Describe any three techniques

https://dl.doubtnut.com/l/_0KHwTVNPxv3A
https://dl.doubtnut.com/l/_axNIYT5Hqizs


Watch Video Solution

2. Discuss the mode of action and

advantages/disadvantages of hormonal

contraceptives.

Watch Video Solution

3. STDs are threat to reproductive health.

Describe any two such diseases and suggest

preventive measures.

https://dl.doubtnut.com/l/_axNIYT5Hqizs
https://dl.doubtnut.com/l/_CD69GRhko9wr
https://dl.doubtnut.com/l/_1inCePY8woGk


Watch Video Solution

4. Do you Justify the statutory ban on

amniocentesis in our country ? Give reasons.

Watch Video Solution

5. Enumerate and describe any five reasons for

introducing sex education to school-going

children .

Watch Video Solution

https://dl.doubtnut.com/l/_1inCePY8woGk
https://dl.doubtnut.com/l/_NrEoEz9mpvhN
https://dl.doubtnut.com/l/_tlm2pN6wdHMH


High Order Thinking Skills And Brain Twisting

Very Short Answer Question

1. Which substances are present in birth

control pills ?

Watch Video Solution

2. Give the term for rapid population decline

and rapid population growth.

View Text Solution

https://dl.doubtnut.com/l/_q1ojzJUJWNl0
https://dl.doubtnut.com/l/_hTrEIKNfuBmN


3. Which period is the safest for MTP ?

Watch Video Solution

4. Who is a surrogate mother ?

Watch Video Solution

5. Chancre are primary lesions caused by......

View Text Solution

https://dl.doubtnut.com/l/_VA65otw2sY75
https://dl.doubtnut.com/l/_O2Rxt0qEVPoc
https://dl.doubtnut.com/l/_KKObwfaAOoLu


High Order Thinking Skills And Brain Twisting

Short Answer Question

1. What is amniocentesis ? Give its significance.

Watch Video Solution

2. Do you think that reproductive health in our

country has improved in the past 50 years? If

yes, mention some such areas of improvement.

Watch Video Solution

https://dl.doubtnut.com/l/_ixwJ10L4v8Ua
https://dl.doubtnut.com/l/_ezFJezgBcFdH


3. What do you mean by "STD" ? Give some

measures of STD prevention.

Watch Video Solution

4. Why Cu-T acts as an effective contraceptive?

Watch Video Solution

5. Define infertility. Explain two assisted

reproductive technologies to check the

https://dl.doubtnut.com/l/_5sR2HGqiylcH
https://dl.doubtnut.com/l/_V6eV8sPtqc8t
https://dl.doubtnut.com/l/_rQchTlKzEGZh


High Order Thinking Skills And Brain Twisting

Long Answer Question

problem of infertility

Watch Video Solution

1. What is amniocentesis technique? Give its

use. How has this technique being misused?

Watch Video Solution

https://dl.doubtnut.com/l/_rQchTlKzEGZh
https://dl.doubtnut.com/l/_LPv0xpfCgRIZ


Quick Memory Test A Say True Or False

1. Essay on Population was written by Darwin.

Watch Video Solution

2. Congenital chromosomal and metabolic

defects in the foetus can be determined by

amniocentesis.

Watch Video Solution

https://dl.doubtnut.com/l/_cHZU3LYBvvaD
https://dl.doubtnut.com/l/_PeVVMmhRaXyz
https://dl.doubtnut.com/l/_oKo0gbLg5nFk


3. The excess of births over deaths in a year

per 1000 individuals is called growth rate

Watch Video Solution

4. First test tube baby was born to Mrs. Louise

Joy Brown of England

Watch Video Solution

5. The best way to decrease population of a

country is to kill people on a large scale.

https://dl.doubtnut.com/l/_oKo0gbLg5nFk
https://dl.doubtnut.com/l/_ScPViYj81cbl
https://dl.doubtnut.com/l/_RR9m7B21OhxI


Watch Video Solution

6. Complete count of individuals in an area is

called population

Watch Video Solution

7. Main causes of diseases are genetic

disorder, infections and life style.

Watch Video Solution

https://dl.doubtnut.com/l/_RR9m7B21OhxI
https://dl.doubtnut.com/l/_ULhePsq829CS
https://dl.doubtnut.com/l/_lL7HuhXJajxA
https://dl.doubtnut.com/l/_Yt3eABaMDTWI


8. Hepatitis B, genital herpes and HIV are STDs,

only HIV is incurable.

Watch Video Solution

9. Test tube baby technique involves artificial

insemination.

Watch Video Solution

https://dl.doubtnut.com/l/_Yt3eABaMDTWI
https://dl.doubtnut.com/l/_sMhh41s3yA50


Quick Memory Test B Complete The Missing Links

10. In India, medical termination of pregnancy

(.e. abortion) was legalised in 1999

Watch Video Solution

1. Rapid increase in human population is called

....................

Watch Video Solution

https://dl.doubtnut.com/l/_tHIQsZmlisBJ
https://dl.doubtnut.com/l/_bF5VyPGN3kH2
https://dl.doubtnut.com/l/_vQ9vlCvmTAvA


2. .................. is the surgical cutting of fallopian

tubes of female.

Watch Video Solution

3. .............. technique is used to know the sex of

developing foetus.

Watch Video Solution

https://dl.doubtnut.com/l/_vQ9vlCvmTAvA
https://dl.doubtnut.com/l/_hYWHlqNrz7h2


4. According to 2011 census, Indian population

was:

Watch Video Solution

5. Presently human population needs..................

years to double.

Watch Video Solution

https://dl.doubtnut.com/l/_eCLquJuDe70K
https://dl.doubtnut.com/l/_D99Hb2DmdFf8


6. India has about ................... per cent

population of the world.

Watch Video Solution

7. Main cause of population explosion is.......

Watch Video Solution

8. Vasectomy is the surgical cutting of......

Watch Video Solution

https://dl.doubtnut.com/l/_Pw3Rj0ZWtAba
https://dl.doubtnut.com/l/_8nlUaMequJNW
https://dl.doubtnut.com/l/_lPfNrsjqCsvO


9. Viability period of human ovum is......

Watch Video Solution

10. A darkly stained body present in the

somatic cells of human female but absent

from those of human male is............

Watch Video Solution

https://dl.doubtnut.com/l/_lPfNrsjqCsvO
https://dl.doubtnut.com/l/_hhkLMireLukH
https://dl.doubtnut.com/l/_ZnaHL9zCuflh


11. In India, sex ratio is............... (2001 census)

Watch Video Solution

12. Exponential phase of human population

started in........

Watch Video Solution

13. ......... and ............... are sexually transmitted

diseases.

https://dl.doubtnut.com/l/_RB1FRl8phZ3z
https://dl.doubtnut.com/l/_4UytIpZj68Sx
https://dl.doubtnut.com/l/_96oeLVenlRrP


Watch Video Solution

14. A state of healthy reproductive organs with

normal functions is called .................

Watch Video Solution

15. ............. involves the transfer of embryo at 8-

celled stage in the fallopion tube of female.

Watch Video Solution

https://dl.doubtnut.com/l/_96oeLVenlRrP
https://dl.doubtnut.com/l/_8rX1NDe8vJkU
https://dl.doubtnut.com/l/_WxfHl3sMLl1c
https://dl.doubtnut.com/l/_fnXBMqwHEdAC


Quick Memory Test C Choose The Correct

Alternative

16. A stage when couples are unable to

produce children is called............

Watch Video Solution

1. Condoms and Diaphragms are

mechanical/physiological contraceptives.

Watch Video Solution

https://dl.doubtnut.com/l/_fnXBMqwHEdAC
https://dl.doubtnut.com/l/_4NE2mcyPsboH


2. 'Sahell' is taken orally daily once in a week.

Watch Video Solution

3. Reproductive and Child Health Care

Programme was started in 1977/1997.

Watch Video Solution

4. Indian population touched 1 billion mark on

11 May/31 May, 2000.

https://dl.doubtnut.com/l/_XHmcsA4c887f
https://dl.doubtnut.com/l/_AcYzV355oP2O
https://dl.doubtnut.com/l/_U21ZBp1ozlDi


Watch Video Solution

5. According to 2011 census, annual growth

rate of Indian population was 1.8%/1.58%.

Watch Video Solution

6. During 1850-2000 period, Indian population

increased by 5/3 times.

Watch Video Solution

https://dl.doubtnut.com/l/_U21ZBp1ozlDi
https://dl.doubtnut.com/l/_Pyldy8kLcvQT
https://dl.doubtnut.com/l/_kiRxAqcouyeg
https://dl.doubtnut.com/l/_sDxiQOiCPOoZ


7. Legal marriage age for girls in India is 18/21

years.

Watch Video Solution

8. Lippe's loop is a copper releasing/non-

medicated/hormone releasing IUD.

Watch Video Solution

https://dl.doubtnut.com/l/_sDxiQOiCPOoZ
https://dl.doubtnut.com/l/_ugemYBHNKwRx


Revision Exercise Multiple Choice Question

9. Surgical removal of uterus is called

Orchidectomy Tubectomy/Hysterectomy.

Watch Video Solution

10. Syphilis is a bacterial/viral STD, while

Leucorrhoea is a viral/protozoan STD.

Watch Video Solution

https://dl.doubtnut.com/l/_TuDQ67GbJv3m
https://dl.doubtnut.com/l/_r110jYcrRuY6
https://dl.doubtnut.com/l/_p3Qp6maB9XIN


1. Progesterone is generally present in

contraceptive pills. Its function is to :

A. Check ovulation

B. Prevent fertilization

C. Prevent implantation

D. Prevent cleavage

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_p3Qp6maB9XIN


2. Copper-T/loop prevents:

A. Ovulation

B. Zygote formation

C. Fertilization

D. cleavage

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_nLvMS5WIkmJK


3. The percentage of ratio of natality over

mortality is called :

A. Vital index

B. Total count

C. Population density

D. none of these

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_EnhdkXfXuyMU
https://dl.doubtnut.com/l/_WL1XiW8VEZy5


4. Human population follows :

A. J-shaped growth curve

B. S-shaped growth curve

C. Z-shaped growth curve

D. All of the above

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_WL1XiW8VEZy5


5. Intra-uterine devices (IDs) are used to

prevent:

A. Sperm to reach ovum

B. Sperm to reach female

C. Sperm from leaving testes

D. All of these

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_6HQvNzRFv4a1
https://dl.doubtnut.com/l/_BdWHIzu3zvLL


6. Amoniocentesis is the withdrawal of

amniotoc fluid in

A. Menopause

B. Lactation

C. Gestation

D. Parturition

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_BdWHIzu3zvLL


7. In the production of test tube baby

A. Fertilization is external but foetus

formation is internal

B. Fertilization is internal but foetus

formation is external

C. Fertilization and foetus formation are

external

D. Fertilization and foetus formation are

internal

https://dl.doubtnut.com/l/_5lLzHh2Rs7iC


Answer: A

Watch Video Solution

8. World Population Day falls on:

A. 5th June

B. 11th July

C. 4th October

D. 21st March

Answer: B

https://dl.doubtnut.com/l/_5lLzHh2Rs7iC
https://dl.doubtnut.com/l/_rVZAkcvwDj4k


Watch Video Solution

9. Preventice birth control measure is :

A. Preventing union of ovum and sperm

B. MTP

C. Preventing sperms from entering uterus

D. Test-tube babies

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_rVZAkcvwDj4k
https://dl.doubtnut.com/l/_43hVMX19SKz3


10. Tubectomy, a method of population

control, is performed on:

A. Both males and females

B. Males only

C. Females only

D. Only pregnant females

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_43hVMX19SKz3
https://dl.doubtnut.com/l/_CqdzZaXHRYwt
https://dl.doubtnut.com/l/_NN8uniooh5nW


11. Study of human population is

A. Anthropology

B. Sociology

C. Demography

D. Ethnology

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_NN8uniooh5nW


12. This is the method of birth control :

A. HTF

B. GIFT

C. IUD

D. IVF-ET

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_gDHHerG5l0RX


13. When natality is balanced by mortality.

There will be

A. Decrease in population growth

B. Zero population growth

C. Increase in population growth

D. Over population

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_3KOW4IlCzBEO
https://dl.doubtnut.com/l/_EelwIVarg0RN


14. The first complete census in India was

carried out in :

A. 1871

B. 1881

C. 1891

D. 1901

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_EelwIVarg0RN


15. As per 1991 census, sex ratio (females per

1000 males) in India was:

A. 929

B. 941

C. 972

D. 955

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_NPucBqjEr8vL
https://dl.doubtnut.com/l/_lTBo2SgARDs6


16. What per cent of world population lives in

India ?

A. 10

B. 12

C. 15

D. 16

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_lTBo2SgARDs6


17. In which one of the following the birth rate

is high & death rate is normal

A. Sweden

B. India and Morocco

C. Indonesia

D. America and Spain

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_XbV3KnF0m1GQ
https://dl.doubtnut.com/l/_mlvNhs2k0jMT


18. First human population explosion took

place due to:

A. Agriculture

B. Industrialization

C. Technology

D. Change in culture

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_mlvNhs2k0jMT


19. In a population, unrestricted reproductive

capacity is called

A. Biotic potential

B. Fertility

C. Carrying capacity

D. Birth rate

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_mZlS4qwpGlAU
https://dl.doubtnut.com/l/_3QNAHtwHHx5X


20. 11th July is celebrated as:

A. World AIDS Day

B. World Environment Day

C. World Population Day

D. World Science and Technology Day

Answer: C

Watch Video Solution

21. What is function of copper-T?

https://dl.doubtnut.com/l/_3QNAHtwHHx5X
https://dl.doubtnut.com/l/_L3tdcITaGMnr


A. Stops cleavage

B. Stops fertilization

C. Checks mutation

D. Stops gastrulation

Answer: B

Watch Video Solution

22. Test-tube baby means a baby born when

A. It is developed in a test tube

https://dl.doubtnut.com/l/_L3tdcITaGMnr
https://dl.doubtnut.com/l/_VQDJlSGAjHem


B. It develops from a non-fertilized egg

C. The ovum is fertilized externally and

thereafter implanted in uterus

D. It is developed by tissue culture method

Answer: C

Watch Video Solution

23. The first case of IVF-ET technique success,

was reported by

https://dl.doubtnut.com/l/_VQDJlSGAjHem
https://dl.doubtnut.com/l/_WpIvhRvb2hdM


A. Bayliss and Starling Taylor

B. Robert Stepboe and Gilbert Brown

C. Louis Joy Brown and Banting Best

D. Patrick Steptoe and Robert Edwards

Answer: D

Watch Video Solution

24. Loss of forests, urbanization, increasing

pollution are all due to :

https://dl.doubtnut.com/l/_WpIvhRvb2hdM
https://dl.doubtnut.com/l/_Gh0di7ql5Qga


A. Population explosion

B. Global warming

C. Green house effect

D. Ozone depletion

Answer: A

Watch Video Solution

25. High increase in population is due to:

A. Increase in average life span

https://dl.doubtnut.com/l/_Gh0di7ql5Qga
https://dl.doubtnut.com/l/_DQSrcol8ULsl


B. Better medical facilities

C. Decrease in death rate

D. All of these

Answer: D

Watch Video Solution

26. A procedure that finds use in testing for

genetic disorders, but is also misused for

female foeticide is

https://dl.doubtnut.com/l/_DQSrcol8ULsl
https://dl.doubtnut.com/l/_W7pGFtrRDIdB


Revision Exercise Very Short Answer Type

Question A Question From State Board

Examination

A. Lactational amenorrhea

B. Amniocentesis

C. Artificial insemination

D. Parturition

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_W7pGFtrRDIdB
https://dl.doubtnut.com/l/_upLTRoL0cOID


1. What is demography?

Watch Video Solution

2. Expand the term GIFT.

Watch Video Solution

3. What is amniocentesis?

Watch Video Solution

https://dl.doubtnut.com/l/_upLTRoL0cOID
https://dl.doubtnut.com/l/_By1XsdqE9heX
https://dl.doubtnut.com/l/_XjPriK7pCoD1
https://dl.doubtnut.com/l/_pu57XEEHjBGI


4. Expand the term ART.

Watch Video Solution

5. Expand the term ZIFT

Watch Video Solution

6. Which test is conducted to identify HIV?

Watch Video Solution

https://dl.doubtnut.com/l/_pu57XEEHjBGI
https://dl.doubtnut.com/l/_bUkyvJJjxCck
https://dl.doubtnut.com/l/_JA6sYiQOKxJw
https://dl.doubtnut.com/l/_OBPHoiLeW0ZY


7. Name two curable sexually transmitted

diseases.

Watch Video Solution

8. What do you mean by MTP?

Watch Video Solution

9. What is meant by oligospermia?

Watch Video Solution

https://dl.doubtnut.com/l/_OBPHoiLeW0ZY
https://dl.doubtnut.com/l/_lRVZk2tMZfcD
https://dl.doubtnut.com/l/_7qb2qMfqNfPr


10. What are STDs? Give two examples.

Watch Video Solution

11. What is IVF technique?

Watch Video Solution

12. Expand the following abbreviations

commonly used in reproductive health: (a) ART

https://dl.doubtnut.com/l/_7qb2qMfqNfPr
https://dl.doubtnut.com/l/_HtytfmSD9GO7
https://dl.doubtnut.com/l/_PGG0t40XHaW9
https://dl.doubtnut.com/l/_PMQxOrlEmldV


(b) ZIFT

Watch Video Solution

13. MTP is the abbreviation of______.

Watch Video Solution

14. Expand the abbreviation of ZIFT.

Watch Video Solution

https://dl.doubtnut.com/l/_PMQxOrlEmldV
https://dl.doubtnut.com/l/_J7hiYjCuzGRT
https://dl.doubtnut.com/l/_eXNNw07XQEAq
https://dl.doubtnut.com/l/_XdagzrK2QIDa


15. IVF is the abbreviation of____

Watch Video Solution

16. Name the pathogen responsible to cause

syphilis.

Watch Video Solution

17. Define natality.

Watch Video Solution

https://dl.doubtnut.com/l/_XdagzrK2QIDa
https://dl.doubtnut.com/l/_M9OVEWplHOxq
https://dl.doubtnut.com/l/_qyUcUJIEdVm4


18. Expand GIFT.

Watch Video Solution

19. Mortality.

Watch Video Solution

20. Expand the term MTP.

Watch Video Solution

https://dl.doubtnut.com/l/_1YEeSYP7M3Nu
https://dl.doubtnut.com/l/_w3GfKGSYtyqu
https://dl.doubtnut.com/l/_84yxmKF9XtpU


21. What substances are present in birth

control pills?

Watch Video Solution

22. Mention the scientific name of the microbe

responsible for gonorrhoea.

Watch Video Solution

https://dl.doubtnut.com/l/_uIS6ipfuHlhU
https://dl.doubtnut.com/l/_fhRdThHIVqCn


23. What was the human population growth

rate in India, according to 2001 census report?

Watch Video Solution

24. What is medical termination of pregnancy?

Watch Video Solution

25. What is vasectomy?

Watch Video Solution

https://dl.doubtnut.com/l/_vjTjWhPM4nar
https://dl.doubtnut.com/l/_ZfoJJujYhcvu
https://dl.doubtnut.com/l/_5Hn4SCy18LTa


Revision Exercise Very Short Answer Type

Question B Question From Cbse Examination

26. What is tubectomy?

Watch Video Solution

27. What is contraception?

Watch Video Solution

https://dl.doubtnut.com/l/_5Hn4SCy18LTa
https://dl.doubtnut.com/l/_z9VZA0MSiuIZ
https://dl.doubtnut.com/l/_UcK9SYqYgeD2
https://dl.doubtnut.com/l/_PXLN0PeLq0Ok


1. Name technique by which one can detect

any possible chromosomal or metabolic

disorder in developing foetus in a pregnant

woman

Watch Video Solution

2. What is advantage of technique

amniocentesis?

Watch Video Solution

https://dl.doubtnut.com/l/_PXLN0PeLq0Ok
https://dl.doubtnut.com/l/_x58PZOy7xG5h


3. Mention two factors which are considered

responsible for the increase in human

population

Watch Video Solution

4. Define zero population growth.

Watch Video Solution

https://dl.doubtnut.com/l/_lNjJw938FKHL
https://dl.doubtnut.com/l/_fFWJ61fddhPe


5. Name the fluid from which foetal cells are

obtained for chromosomal analysis.

Watch Video Solution

6. At what stage is the embryo implanted in

the uterus of the mother in the case of test

tube baby?

Watch Video Solution

https://dl.doubtnut.com/l/_Z7bvtAdYZLPg
https://dl.doubtnut.com/l/_NZTLYaIVlhdP


7. What is meant by replacement level with

reference to human population growth?

Watch Video Solution

8. In you option what can be the two most

probable resons for rapid reise of pupulation

in our conutry from about 350 million at time

of independence to about 1 billion by the year

2000 ?

Watch Video Solution

https://dl.doubtnut.com/l/_24M2TfWh3fLY
https://dl.doubtnut.com/l/_7oMNaHHvSSS7


9. After a successful in vitro fertilization, the

fertilised egg begins to divide. Where is this

egg transferred before it reaches the 8-cell

stage and what is this technique named?

Watch Video Solution

10. Our government has intentionally imposed

strict conditions for M.TP. In our country.

Justify giving a reason.

Watch Video Solution

https://dl.doubtnut.com/l/_7oMNaHHvSSS7
https://dl.doubtnut.com/l/_tKUoYGClnZ3l
https://dl.doubtnut.com/l/_O2Rj66Pl2OUq


Revision Exercise Short Answer Type I Question A

Question From State Board Examination

11. Give one reason to justify statutory ban on

amniocentesis.

Watch Video Solution

1. Ammiocentesis, the foetal sex determination

test, is banned in our country, Is it necessary?

https://dl.doubtnut.com/l/_O2Rj66Pl2OUq
https://dl.doubtnut.com/l/_l1H4o2EZ0oME
https://dl.doubtnut.com/l/_l430tZfWMg0b


Comment.

Watch Video Solution

2. Suggest the aspects of reproductive health

which need to be given special attention in

the present scenario.

Watch Video Solution

3. Expand the terms ICSI and IVE.

Watch Video Solution

https://dl.doubtnut.com/l/_l430tZfWMg0b
https://dl.doubtnut.com/l/_X5lSNJZCc7Q5
https://dl.doubtnut.com/l/_95nZt9kjBx7G


4. What do you mean by ZIFT and GIFT.

Watch Video Solution

5. Being a student of Biology, what will be your

suggestions for infertile couple to produce a

child?

Watch Video Solution

https://dl.doubtnut.com/l/_95nZt9kjBx7G
https://dl.doubtnut.com/l/_snAHQOHSNK7i
https://dl.doubtnut.com/l/_BVBCVbZ5erAv


6. What do you mean by amniocentesis?

Watch Video Solution

7. REPRODUCTIVE HEALTH

Watch Video Solution

8. Name any four sexually transmitted

diseases.

Watch Video Solution

https://dl.doubtnut.com/l/_jsssOO4ivYuc
https://dl.doubtnut.com/l/_QWsrnPyYz8eL
https://dl.doubtnut.com/l/_TcduMdkavE4T


9. Define infertility in human beings.

Watch Video Solution

10. Mention two permanent methods of

sterilisation.

Watch Video Solution

https://dl.doubtnut.com/l/_TcduMdkavE4T
https://dl.doubtnut.com/l/_uXs1bzUsbEJA
https://dl.doubtnut.com/l/_ICD0HvfMfEyB


11. A woman does not want any more

pregnancy. Which permanent method will she

prefer and why?

Watch Video Solution

12. Define artifical insemination. Write down

two advantages of it.

Watch Video Solution

https://dl.doubtnut.com/l/_JLqvTMPyVVrW
https://dl.doubtnut.com/l/_uHNilrx5hsmF


13. Define reproductive health. Write its two

significances.

Watch Video Solution

14. One of your neighbour is suffering from

itching, fluid discharge, slight pain and

swelling in genital region. 

(a) What do you think the disease he is

suffering from? (b) What measures are to be

taken to prevent such disease?

https://dl.doubtnut.com/l/_GrZYokfnQsHN
https://dl.doubtnut.com/l/_smhpKbT2jG8o


Watch Video Solution

15. Medical Termination of Pregnancy (MTP) is

legalised in India. Comment

Watch Video Solution

16. Write a short note on primary steps

towards reproductive health.

Watch Video Solution

https://dl.doubtnut.com/l/_smhpKbT2jG8o
https://dl.doubtnut.com/l/_VQfN7PiO9yNb
https://dl.doubtnut.com/l/_FKmEbZL0nqW3
https://dl.doubtnut.com/l/_qnWRuYwXlXkt


17. Expand the following terms: MIP, IMR, ICSI.

Watch Video Solution

18. Write a note on Intra-Uterine Devices.

Watch Video Solution

19. Expand the following terms: IUDs, MMR,

GIFT.

Watch Video Solution

https://dl.doubtnut.com/l/_qnWRuYwXlXkt
https://dl.doubtnut.com/l/_6H1K2aEeffbU
https://dl.doubtnut.com/l/_IE5jbGS1EyeL


20. Foetal sex can be determined by a test

based on chromosomal pattern from amniotic

fluid (a) What is this test? (b) Revealing of sex

determination through this test is banned. Is

this ban necessary ? (c) In vitro fertilization

followed by embryo transfer is known as

....................?

Watch Video Solution

https://dl.doubtnut.com/l/_yJaJJgRpxTWc


21. Is sex education necessary in schools?

Why?

Watch Video Solution

22. What is MTP? Upto which stage, it is

considered to be safe?

Watch Video Solution

https://dl.doubtnut.com/l/_3WtZpSD5YIes
https://dl.doubtnut.com/l/_VaOJMCKy06BE


23. Distinguish between tubectomy and

vasectomy

Watch Video Solution

24. Write about test tube baby programme.

Watch Video Solution

25. Name four sexually transmitted diseases

which can be cured if detected early and

https://dl.doubtnut.com/l/_lhyTBl2pQEou
https://dl.doubtnut.com/l/_nrzn1aCmngFE
https://dl.doubtnut.com/l/_lBvg8F75EhHg


treated properly

Watch Video Solution

26. Expand the terms ZIFT and IVF

Watch Video Solution

27. What do you mean by MTP?

Watch Video Solution

https://dl.doubtnut.com/l/_lBvg8F75EhHg
https://dl.doubtnut.com/l/_Ztd7M9MEnGSV
https://dl.doubtnut.com/l/_i0kWHyygOHhb
https://dl.doubtnut.com/l/_6wUWa2EiAbWA


28. Define amniocentesis. Explain its role.

Watch Video Solution

29. Enlist the various precautions one has to

take to protect himself/herself from STDs.

Watch Video Solution

30. What is reproductive health? What is its

significance?

Watch Video Solution

https://dl.doubtnut.com/l/_6wUWa2EiAbWA
https://dl.doubtnut.com/l/_mda4re4biIPj
https://dl.doubtnut.com/l/_nPAMGSrztYQd


31. What is artificial insemination? Write two

advantages of artificial Insemination?

Watch Video Solution

32. What is self-sterility?

Watch Video Solution

https://dl.doubtnut.com/l/_nPAMGSrztYQd
https://dl.doubtnut.com/l/_GnLFY1QcOHXK
https://dl.doubtnut.com/l/_LKpanYC7OwOP


33. Write any two simple principles to prevent

sexually transmitted diseases.

Watch Video Solution

34. Suggest the aspects of reproductive health

which need to be given special attention in

the present scenario.

Watch Video Solution

https://dl.doubtnut.com/l/_xyDVV3N4AJaN
https://dl.doubtnut.com/l/_ZsdSh6nJrFfi


35. Do you think that reproductive health in

our country has improved in the past 50

years? If yes, mention some such areas of

improvement.

Watch Video Solution

36.  What are the measures one has to take to

prevent from contracting STDs?

Watch Video Solution

https://dl.doubtnut.com/l/_ndZWEOwTyfE9
https://dl.doubtnut.com/l/_UwnNfzdVyolI
https://dl.doubtnut.com/l/_Kq2gxfJA8zGR


37. Write brief about the surgical methods of

birth control.

Watch Video Solution

38. Mention two main causes of population

explosion in India.

Watch Video Solution

https://dl.doubtnut.com/l/_Kq2gxfJA8zGR
https://dl.doubtnut.com/l/_A8s4ia4KIN27


39. Mention any four features of an ideal

contraceptive.

Watch Video Solution

40. Give an example of copper-releasing IUD.

How does it help in preventing pregnancy?

Watch Video Solution

https://dl.doubtnut.com/l/_RF3oDSHzQZ8j
https://dl.doubtnut.com/l/_KxZqXwqsSkwz


41. Give an example of hormone-releasing IUD.

How does it help in preventing pregnancy?

Watch Video Solution

42. What is ART? Categorize the following ARTs

based on their applications in male and female

sterility: (i) GIFT (ii) AI

Watch Video Solution

https://dl.doubtnut.com/l/_LB8INu51JWWA
https://dl.doubtnut.com/l/_STqYO8j5GJ3S


43. What is lactational amenorrhea? Does it

prove to be an effective contraceptive

method?

Watch Video Solution

44. Write full form of GIFT and IUD

Watch Video Solution

https://dl.doubtnut.com/l/_Vkq5c0cJ6f59
https://dl.doubtnut.com/l/_F7CkNKLgkemB


45. What is amniocentesis? Why does

amniocentesis is banned?

Watch Video Solution

46. Expand the terms: GIFT, VD, AIDS.

Watch Video Solution

47. Write a note on vasectomy

Watch Video Solution

https://dl.doubtnut.com/l/_IwHDWlr7evgF
https://dl.doubtnut.com/l/_KB5ZyPZ1Yyco
https://dl.doubtnut.com/l/_LwUEJyz38dj5


48. Expand the terms: MTP, AIDS, Al

Watch Video Solution

49. Write a note on tubectomy

Watch Video Solution

50. Expand the terms: ZIFT, STD, AIH.

Watch Video Solution

https://dl.doubtnut.com/l/_LwUEJyz38dj5
https://dl.doubtnut.com/l/_LKXUW4q7eyLd
https://dl.doubtnut.com/l/_Y0gmEONCAg1z
https://dl.doubtnut.com/l/_zNVRcWfA03hO


51. Describe two surgical methods of birth

control

Watch Video Solution

52. Expand the terms: ZIFT, VD, IUT and RTL.

Watch Video Solution

53. Expand the terms: MTP, IVF, ART and AIDS.

https://dl.doubtnut.com/l/_zNVRcWfA03hO
https://dl.doubtnut.com/l/_quIbHknssOfU
https://dl.doubtnut.com/l/_mY4HpRXpNI87
https://dl.doubtnut.com/l/_LGpzdeiHJ4jD


Watch Video Solution

54. Expand the terms: STD, GIFT, AI and VD.

Watch Video Solution

55. A wide range of coutraceptive methods are

presently available. If so, (a) Name one

contraceptive method having least side effect.

(b) Which countraceptive method is generally

advised for females as a termination method

https://dl.doubtnut.com/l/_LGpzdeiHJ4jD
https://dl.doubtnut.com/l/_zQ7RsIWnCyb4
https://dl.doubtnut.com/l/_SgkX7UTtLMxv


Revision Exercise Short Answer Type I Question B

Question From Cbse Examination

to prevent any further pregnancy? (c) List out

any two possible ill-effects of the usage of

contraceptive methods.

Watch Video Solution

1. Describe the methods of birth control by

which fertilization of ovum by sperm is

prevented.

https://dl.doubtnut.com/l/_SgkX7UTtLMxv
https://dl.doubtnut.com/l/_r1zD6zlXAeaT


Watch Video Solution

2. What is meant by Total Fertility Rate? How

does it differ from Replacement Rate?

Watch Video Solution

3. In the table given below, select and enter

one correct device out of the following: Oral

pill, Condom, Copper T, Saheli, Vasectomy,

Diaphragm, Tubectomy, Cervical cap 

https://dl.doubtnut.com/l/_r1zD6zlXAeaT
https://dl.doubtnut.com/l/_6bn4PsNa7kYE
https://dl.doubtnut.com/l/_BbhVOjvVgsLL


View Text Solution

4. A mother of one year old daughter wanted

to space her second child. Her doctor

suggested CuT. Explain its contraceptive

actions.

Watch Video Solution

5. (i) Expand IUD. 

(ii) Why is hormone realeasing IUD considered

https://dl.doubtnut.com/l/_BbhVOjvVgsLL
https://dl.doubtnut.com/l/_XwoPHfcVb27k
https://dl.doubtnut.com/l/_6vsbXMq8diFi


a good contraceptive to space children.

Watch Video Solution

6. Name the hormonal composition of the oral

contraceptive used by human female. Explain

how does it act as a contraceptive ?

Watch Video Solution

7. Why do some women used "Saheli" pills ?

Watch Video Solution

https://dl.doubtnut.com/l/_6vsbXMq8diFi
https://dl.doubtnut.com/l/_g59IpW7453Fy
https://dl.doubtnut.com/l/_rAM2mPiP6lae


8. How do copper and hormone releasing IUDs

act as contraceptives? Explain.

Watch Video Solution

9. Explain the zygote intra fallopian transfer

technique ZIFT. How is intrauterin e transfer

technique (IUT) different from it

Watch Video Solution

https://dl.doubtnut.com/l/_rAM2mPiP6lae
https://dl.doubtnut.com/l/_p46LePjX6YB3
https://dl.doubtnut.com/l/_sBo8f0nMroBi
https://dl.doubtnut.com/l/_583nPowwRaVA


10. Why is Cu-T considered a good

contraceptive device to space children?

Watch Video Solution

11. Describe the Lactational Amenorrhea

method of birth control

Watch Video Solution

https://dl.doubtnut.com/l/_583nPowwRaVA
https://dl.doubtnut.com/l/_t2soBWXYCU1d


12. Why is Cu-T considered a good

contraceptive device to space children?

Watch Video Solution

13. Construct an age pyramid which reflects an

expanding growth status of human

population.

Watch Video Solution

https://dl.doubtnut.com/l/_9KYhffl2wNY8
https://dl.doubtnut.com/l/_nY4Y76FStBRi


14. An infertile couple is advised to adopt test

tube baby programme. Describe two principle

procedures adopted for such technologies.

Watch Video Solution

15. Name any two copper releasing IUD's. State

how they act as a contraceptive

Watch Video Solution

https://dl.doubtnut.com/l/_Y107bMUz00iv
https://dl.doubtnut.com/l/_60Hs1M6zvo1j


Revision Exercise Short Answer Type Ii Question

A Question From State Board Examination

1. Define contraception. Explain two methods

of it in brief.

Watch Video Solution

2. Write down the significance of

Amniocentesis.

Watch Video Solution

https://dl.doubtnut.com/l/_qzzZIEweG5PE
https://dl.doubtnut.com/l/_NPuJsJpbgCB3


3. Write a short note on MTP

Watch Video Solution

4. What are the measures to safeguard

yourself from countracting STDs?

Watch Video Solution

5. Suggest some methods to assist infertile

couples to have children.

https://dl.doubtnut.com/l/_Aw2vWxjaopjU
https://dl.doubtnut.com/l/_3TrV4hrGRths
https://dl.doubtnut.com/l/_3cSQL3NFyas9


Watch Video Solution

6. Amniocentesis for sex determination is

banned in our country. Is this ban necessary?

Comment.

Watch Video Solution

7. Explain the concept of amniocentesis.

Watch Video Solution

https://dl.doubtnut.com/l/_3cSQL3NFyas9
https://dl.doubtnut.com/l/_8LcIAdTvdafg
https://dl.doubtnut.com/l/_wMzFmWRp87Xa
https://dl.doubtnut.com/l/_0yszd3dFZYTS


8. What is STD? Write the preventive measures

of STDs

Watch Video Solution

9. Explain mechanical methods of birth control

Watch Video Solution

10. Give positive and negative aspects of

amniocentesis.

https://dl.doubtnut.com/l/_0yszd3dFZYTS
https://dl.doubtnut.com/l/_nnxch4QHyVBE
https://dl.doubtnut.com/l/_epkozPBFJciX


Watch Video Solution

11. Write a short note on Sexually Transmitted

Diseases.

Watch Video Solution

12. Write a note on In-vitro fertilization.

Watch Video Solution

https://dl.doubtnut.com/l/_epkozPBFJciX
https://dl.doubtnut.com/l/_7UQ3coWDBWrA
https://dl.doubtnut.com/l/_ciNqVhSptfgt


13. Define amniocentesis. Give its advantages &

disadvantages.

Watch Video Solution

14. Name three sexually transmitted diseases

of man.

Watch Video Solution

https://dl.doubtnut.com/l/_e1p3yePDxPMi
https://dl.doubtnut.com/l/_DcKNQ0FiNNEJ


15. Categorise the given birth control methods

into three groups with proper heads: Cervical

caps, Vasectomy, Cu-T, Tubectomy, Diaphragm,

Condoms, Lippe's loop.

Watch Video Solution

16. Describe barrier methods of contraception.

Watch Video Solution

https://dl.doubtnut.com/l/_gbUcTC5upxM8
https://dl.doubtnut.com/l/_Io0ltisJ3H8u


17. Discuss the role of hormonal pills in

contraception.

Watch Video Solution

18. Name and explain any two assisted

reproductive techniques (ARTs) which have

decreased the number of cases of infertile

couples

Watch Video Solution

https://dl.doubtnut.com/l/_dJrE1p4LOxUf
https://dl.doubtnut.com/l/_ageRjiUuVU5E
https://dl.doubtnut.com/l/_ksaqgUrekTAc


19. What is amniocentesis? Give its procedure

and significance.

Watch Video Solution

20. Describe any three methods of birth

control.

Watch Video Solution

https://dl.doubtnut.com/l/_ksaqgUrekTAc
https://dl.doubtnut.com/l/_XrkXtZZ9cxrJ


21. What is infertility? Give reasons for

infertility in humans.

Watch Video Solution

22. What is amniocentesis? How is it misused ?

Watch Video Solution

23. ASSISTED REPRODUCTIVE TECHNOLOGIES

Watch Video Solution

https://dl.doubtnut.com/l/_QVSuB2RzWzcc
https://dl.doubtnut.com/l/_d9CTTkZAbSfe
https://dl.doubtnut.com/l/_0UZBZAuJuiF4


24. Describe temporary methods of birth

control in brief

Watch Video Solution

25. What are sexually transmitted diseases?

Write its various types of preventive measures.

Watch Video Solution

https://dl.doubtnut.com/l/_0UZBZAuJuiF4
https://dl.doubtnut.com/l/_gFijmKvVhfzw
https://dl.doubtnut.com/l/_s0GqAQ5U4gSv


26. Describe Test Tube Baby programme.

Watch Video Solution

27. Describe various Intra-Uterine Devices

Watch Video Solution

28. Describe oral contraceptives.

Watch Video Solution

https://dl.doubtnut.com/l/_WPf5kwsVtuXe
https://dl.doubtnut.com/l/_7XCa3rRPrNcy
https://dl.doubtnut.com/l/_cCZqeSIuVQSw


29. What are early symptoms of Sexually

Transmitted Diseases (STDs)? What simple

principles should be followed to prevent these

diseases?

Watch Video Solution

30. What is amniocentesis ? Discuss its use

and disuse.

Watch Video Solution

https://dl.doubtnut.com/l/_q6MSa5WhpNgN
https://dl.doubtnut.com/l/_ZtoUsbtP5W7K
https://dl.doubtnut.com/l/_khtksqOM9NKQ


Revision Exercise Short Answer Type Ii Question

B Question From Cbse Examination

31. (a) Expand STDS (b) Cite any two examples

for STDs. (c) Suggest any two methods for the

prevention of STDs.

Watch Video Solution

1. Suggest and explain any three Assisted

Reproductive Technologies (ARTS) in humans.

Watch Video Solution

https://dl.doubtnut.com/l/_khtksqOM9NKQ
https://dl.doubtnut.com/l/_KuZiV127m0tR


2. Community service department of your

school plans a visit to a slum area near the

school with an objective to educate the slum

dwellers with respect to health and hygiene. 

(a) why is there a need to organise such visit ? 

(b) Write steps you will higlight, as a member

of this department in your interaction with

them to enable them to lead a healthy life.

Watch Video Solution

https://dl.doubtnut.com/l/_KuZiV127m0tR
https://dl.doubtnut.com/l/_Aoz55LMZneJE
https://dl.doubtnut.com/l/_9n9qDwnPp4oS


3. (a) Name any two copper releasing IUDs. 

(b) Explain how do they act as effective

contraceptives in human famales .

Watch Video Solution

4. (a) Mention the problems that are taken

care of by Reproduction and Child Health Care

programme.

Watch Video Solution

https://dl.doubtnut.com/l/_9n9qDwnPp4oS
https://dl.doubtnut.com/l/_jRpkrmFrsUJi


5. (a) List any four characteristics of an ideal

contraceptive. 

(b) Name two intrauterine contraceptive

devices that affect the motility of sperms.

Watch Video Solution

6. Name two hormones that are constituents

of contraceptive pills. Why do they have high

and effective contraceptive value? Name a

commonly prescribed non- steroidal oral pill.

https://dl.doubtnut.com/l/_RgqMprAUEwyD
https://dl.doubtnut.com/l/_gml2fQ2WVn1W


Watch Video Solution

7. Medically It is advised to all young mothers

that breast feeding is the best for their

newborn babies ,DO you agree ? Give reasons

in suport of your answer :

Watch Video Solution

8. (a) Name and explain the mode of action of

any two types of IUDs. (b) List the advantages

of using "Saheli" as a contraceptive.

https://dl.doubtnut.com/l/_gml2fQ2WVn1W
https://dl.doubtnut.com/l/_C0pJarhWuPIW
https://dl.doubtnut.com/l/_1AbQsSP62Dxh


Revision Exercise Case Based Short Answer Type

Questions

Watch Video Solution

1. Your school has been selected by the

Department of Education to organize and host

an interschool seminar on "Reproductive

Health - problesm and pratices " However

,many parents are relucatant to permit their

wards to attend it . Their argument is that

topic is " too embrrassing " 

https://dl.doubtnut.com/l/_1AbQsSP62Dxh
https://dl.doubtnut.com/l/_EvrJXA0tS201


Revision Exercise Long Answer Type Question A

Qustions From State Board Examination

Put forth four arguments with apporpriate

reasons and explanation to justify the topic to

be very essential and timely.

Watch Video Solution

1. Suggest some methods to assist infertile

couples to have children.

Watch Video Solution

https://dl.doubtnut.com/l/_EvrJXA0tS201
https://dl.doubtnut.com/l/_IB7JMtNKuB4P


2. Suggest the aspects of reproductive health

which need to be given special attention in

the present scenario.

Watch Video Solution

3. Describe various methods of birth control in

human being

Watch Video Solution

https://dl.doubtnut.com/l/_IB7JMtNKuB4P
https://dl.doubtnut.com/l/_9B4TkeDBUEfp
https://dl.doubtnut.com/l/_OBFM5wBmkiZV
https://dl.doubtnut.com/l/_uzBocv0mihaa


4. What are contraceptive methods ? Explain

different methods of contraception

Watch Video Solution

5. Give the full form of ART.

Watch Video Solution

6. What is amniocentesis technique? Write

down its significance and drawbacks.

Watch Video Solution

https://dl.doubtnut.com/l/_uzBocv0mihaa
https://dl.doubtnut.com/l/_fg3TdgEKCBet
https://dl.doubtnut.com/l/_ohc5SDntCaCs


7. What is reproductive health? What are the

measures one has to take to prevent from

contracting STDs?

Watch Video Solution

8. Explain the techniques used for detection of

foetal disorders during early pregnancy.

Watch Video Solution

https://dl.doubtnut.com/l/_ohc5SDntCaCs
https://dl.doubtnut.com/l/_Rv7p0KV8VZMn
https://dl.doubtnut.com/l/_gZSBTkbq7aFR
https://dl.doubtnut.com/l/_BjCeJtO1QLdr


9. Define infertility Name two Assisted

Reproductive Technologies. Briefly explain test

tube baby.

Watch Video Solution

10. What are IUDS? Name two IUDs. How do

they check the birth control?

Watch Video Solution

https://dl.doubtnut.com/l/_BjCeJtO1QLdr
https://dl.doubtnut.com/l/_mJe3frJGhfAA


11. What are STDs? Name two STDs. How can

they be prevented?

Watch Video Solution

12. What do you mean by sexually transmitted

diseases? Add a note on contraception and

medical termination of pregnancy

Watch Video Solution

https://dl.doubtnut.com/l/_MacvQsuDBnnf
https://dl.doubtnut.com/l/_YvPlSbJLUoZD


13. What is Sexually Transmitted Disease (STD)?

What are the primary symptoms of AIDS?

Discuss the methods of prevention of AIDS

Watch Video Solution

14. Give the full form of IVF. Explain the

procedure involved in IVF

Watch Video Solution

https://dl.doubtnut.com/l/_4Gs6krV08tea
https://dl.doubtnut.com/l/_vpIMpuJ0mxlL


15. Briefly explain the natural methods and

surgical methods of birth control

Watch Video Solution

16. What are contraceptives? Explain two

different non-surgical contraceptive methods.

Watch Video Solution

https://dl.doubtnut.com/l/_aq1id5IVMMTi
https://dl.doubtnut.com/l/_AUFHyIoKMn6t


Revision Exercise Long Answer Type Question B

Qustions From Cbse Examination

17. What is infertility? Write any methods to

assist infertile couples to have children.

Watch Video Solution

1. "Analysis of age-pyramids for human

population can provide important inputs for

long-term planning strategies" Explain .

Watch Video Solution

https://dl.doubtnut.com/l/_f8rANqfXyZUf
https://dl.doubtnut.com/l/_K2u2lZIoIORM


Competition File Objective Type Question A

Multiple Choice Question

1. Maximum growth rate occur in

A. Las phase

B. Exponential phase

C. Stationary phase

D. Senescent phase

https://dl.doubtnut.com/l/_K2u2lZIoIORM
https://dl.doubtnut.com/l/_SwjoCTstEu3n


Answer: B

Watch Video Solution

2. Which of the following is the most sparsely

populated state of India?

A. Manipur

B. Arunachal Pradesh

C. Rajasthan

D. Meghalaya

https://dl.doubtnut.com/l/_SwjoCTstEu3n
https://dl.doubtnut.com/l/_zg3fGde9rjZU


Answer: B

Watch Video Solution

3. Which of the following is a mechanical

barrier used in birth control ?

A. Loop

B. Copper-T

C. Diaphragm

D. Dalcon shield

https://dl.doubtnut.com/l/_zg3fGde9rjZU
https://dl.doubtnut.com/l/_cqyk0IeZvX4R


Answer: C

Watch Video Solution

4. Which of the following is a technique of

direct introduction of gametes into the

oviduct ?

A. MTS

B. ET

C. IVF

D. POST

https://dl.doubtnut.com/l/_cqyk0IeZvX4R
https://dl.doubtnut.com/l/_c4IPTcCAz1n7


Answer: C

Watch Video Solution

5. Zero growth means :

A. Natality is zero

B. Natality balances mortality

C. Natality is less than mortality

D. Natality is more than mortality

Answer: B

https://dl.doubtnut.com/l/_c4IPTcCAz1n7
https://dl.doubtnut.com/l/_MdOSolyCf4Nv


Watch Video Solution

6. Oral contraceptives ae prescribed in females

to check

A. Ovulation

B. Fertilization

C. Implantation

D. Entry of sperms in vagina

Answer: A

https://dl.doubtnut.com/l/_MdOSolyCf4Nv
https://dl.doubtnut.com/l/_Ho2WcKmi9Du9


Watch Video Solution

7. In a population, the condition at which the

rate of addition of new members is more than

the rate of individuals lost indicates:

A. Zero population growth

B. Exponential growth

C. Fluctuating growth

D. Declining growth

Answer: B

https://dl.doubtnut.com/l/_Ho2WcKmi9Du9
https://dl.doubtnut.com/l/_jTY8wh2vD9Yk


Watch Video Solution

8. Growth curve is

Watch Video Solution

9. Greatest biological problems faced by

human beings is :

A. Population explosion

B. Depletion of ozone layer

https://dl.doubtnut.com/l/_jTY8wh2vD9Yk
https://dl.doubtnut.com/l/_lXlk4X1eSgnd
https://dl.doubtnut.com/l/_E8ZFPJMqQrpc


C. Depletion of natural resources

D. Land erosion

Answer: A

Watch Video Solution

10. The formula for exponential population

growth is

A. dt/dN = rN

B. dN/rN = dt

https://dl.doubtnut.com/l/_E8ZFPJMqQrpc
https://dl.doubtnut.com/l/_nuyJ5iLANtLV


C. rN/dN = dt

D. dN/dt = rN

Answer: D

Watch Video Solution

11. मानव जनसंख्या की वृद्धि है-

A. Lag

B. Stationary

C. Exponential

https://dl.doubtnut.com/l/_nuyJ5iLANtLV
https://dl.doubtnut.com/l/_LzjOBjqKkENp


D. None of these

Answer: C

Watch Video Solution

12. In the human female, menstruation can be

deferred by the administration of:

A. FSH only

B. LH only

C. Combination of FSH and LH

https://dl.doubtnut.com/l/_LzjOBjqKkENp
https://dl.doubtnut.com/l/_6kXHLeYBUD28


D. Combination of estrogen and

progesterone

Answer: D

Watch Video Solution

13. If the mean and the median pertaining to a

certain character of a population are of the

same value, the following is most likely to

occur:-

https://dl.doubtnut.com/l/_6kXHLeYBUD28
https://dl.doubtnut.com/l/_1F1J2nyHCCcv


A. Askewed curve

B. A normal distribution

C. Abi-modal distribution

D. AT-shaped curve

Answer: B

Watch Video Solution

14. Geometric representation of age structure

is a characteristic of :

https://dl.doubtnut.com/l/_1F1J2nyHCCcv
https://dl.doubtnut.com/l/_Jw19cJ38DLVX


A. Ecosystem

B. Biotic community

C. Population

D. Landscape

Answer: A

Watch Video Solution

15. The population of an insect species shows

an explosive increase in numbers during rainy

https://dl.doubtnut.com/l/_Jw19cJ38DLVX
https://dl.doubtnut.com/l/_ejAY503lQQkn


season followed by its disappearance at the

end of the season. What does this show ?

A. The population of its predators

increases enormously

B. S-shaped or sigmoid growth of this

insect

C. The food plants mature and die at the

end of rainy season

D. Its population growth curve is of J-type

Answer: D

https://dl.doubtnut.com/l/_ejAY503lQQkn


Watch Video Solution

16. The function of copper-T is to prevent:

A. Fertilization

B. Egg maturation

C. Ovulation

D. Implantation of blastocyst

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_ejAY503lQQkn
https://dl.doubtnut.com/l/_1l4h3AKzIJVV


17. Which one of the following correctly

matches a sexually tansmitted disease (STD)

with its pathogen?

A. AIDS-Bacillus anthracis

B. Syphilis-Treponema pallidum

C. Uretheritis--Entamoeba gingivalis

D. Gonorrhoea-Leishmania donovani

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_1l4h3AKzIJVV
https://dl.doubtnut.com/l/_ayoJVHdNiDws


18. Which of the following is the most sparsely

populated state of India?

A. Manipur

B. Rajasthan

C. Meghalaya

D. Arunachal Pradesh

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_ayoJVHdNiDws
https://dl.doubtnut.com/l/_hqZ1ixxQ0ImM


19. Chancroid is a sexually transmitted disease

caused by

A. Treponema

B. Haemophilus

C. Nisseria

D. Chlamydia

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_iJ1mSGbXOqOj
https://dl.doubtnut.com/l/_hMAS2KI6wVEz


20. Which of the following causes abortion in

ladies?

A. Viruses

B. Bacteria

C. Mycoplasma

D. None of these

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_hMAS2KI6wVEz


21. Plasmodium vivax causes

A. Black water fever

B. Benign tertian malaria

C. Cerebral malaria

D. Ovale malaria

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_odQo8fAlAlM4


22. Filariasis is caused through the bite of:

A. Culex

B. Anopheles

C. Sandfly

D. Both (a) & (b)

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_esy9kxOrCUFe


23. Consider the statements given below

regarging contrception and answer as

directed thereafter: 

(1) Medical Termination of Pregnancy (MTP)

during first trimester is generally safe 

(2) Generally chances of contraception are nil

until mother breast-feeds the infant upto two

years 

(3) Intrauterine devices like copper-T are

effective contraceptives 

(4) Contraceptive pill may be taken upto one

week after coitus to prevent conception

https://dl.doubtnut.com/l/_foCWVkUkSAav


A. 1,3

B. 1,2

C. 2,3

D. 3,4

Answer: A

Watch Video Solution

24. Maximum growth rate occur in

A. Stationary phase

https://dl.doubtnut.com/l/_foCWVkUkSAav
https://dl.doubtnut.com/l/_86t3ANtShoU3


B. Senescent phase

C. Lag phase

D. Exponential phase

Answer: D

Watch Video Solution

25. Amniocentesis is a method to: 

1. Detect genetic disorders in an unborn baby

2. Prenatal sex determination 3. Medical

termination of pregnancy 4. Fertilize the egg

https://dl.doubtnut.com/l/_86t3ANtShoU3
https://dl.doubtnut.com/l/_kcNTkyo5HzfL


A. 1, 2 and 3 are correct

B. 1 and 2 are correct

C. 2 and 4 are correct

D. 1 and 3 are correct

Answer: B

Watch Video Solution

26. July 11 is observed as

A. World Population Day

https://dl.doubtnut.com/l/_kcNTkyo5HzfL
https://dl.doubtnut.com/l/_Zyl5gW7sFFUC


B. No Tobacco Day

C. World Environment Day

D. World Health Day

Answer: A

Watch Video Solution

27. Cryptorchidism is a condition in which :

A. Sperms are not formed

B. Testes do not descend into scrotal sacs

https://dl.doubtnut.com/l/_Zyl5gW7sFFUC
https://dl.doubtnut.com/l/_raoxK4Qv3Mjm


C. Male hormones are not reactive

D. Ovaries are removed

Answer: B

Watch Video Solution

28. Which of the following is the component of

oral pills?

A. Progesterone

B. Oxytocin

https://dl.doubtnut.com/l/_raoxK4Qv3Mjm
https://dl.doubtnut.com/l/_mgV4h2P2sV1n


C. Relaxin

D. None of these

Answer: A

Watch Video Solution

29. When is world AIDS Day celebrated?

A. 7th July

B. 14th July

C. 1st December

https://dl.doubtnut.com/l/_mgV4h2P2sV1n
https://dl.doubtnut.com/l/_71vVF72RtK77


D. 23rd May

Answer: C

Watch Video Solution

30. Acquired immunodeficiency syndrome

(AIDS) is

A. Reduction in the number of Killer-T cells

B. Reduction in the number of Helper T

cells

https://dl.doubtnut.com/l/_71vVF72RtK77
https://dl.doubtnut.com/l/_LRwF8mhmNwnm


C. Result of inability of the body to

produce interferons

D. An autoimmune disease

Answer: B

Watch Video Solution

31. Amniocentesis is a process to

A. Determine any disease of heart

B. Determine any disease of the embryo

https://dl.doubtnut.com/l/_LRwF8mhmNwnm
https://dl.doubtnut.com/l/_3L0Vayx7T8yQ


C. Know about the disease of brain

D. Grow cells on culture medium

Answer: B

Watch Video Solution

32. HIV is classified as a retrovirus because its

genetic information is carried in

A. DNA instead of RNA

B. DNA

https://dl.doubtnut.com/l/_3L0Vayx7T8yQ
https://dl.doubtnut.com/l/_4Ba7Jd1HmTHt


C. RNA instead of DNA

D. Protein coat

Answer: C

Watch Video Solution

33. The tests that are used in the diagnosis of

AIDS are:

A. ELISA and Immunoblot

B. Northern blot and ELISA

https://dl.doubtnut.com/l/_4Ba7Jd1HmTHt
https://dl.doubtnut.com/l/_kLv8f9G28N5c


C. ELISA and Southern blot

D. Western blot and ELISA

Answer: D

Watch Video Solution

34. Histamine is secreted by

A. Liver cells

B. Mast cells

C. Nerve cells

https://dl.doubtnut.com/l/_kLv8f9G28N5c
https://dl.doubtnut.com/l/_JNaPGcnlo0Ty


D. Kidneys

Answer: B

Watch Video Solution

35. The interferons are:

A. Artibacterial proteins

B. Antiviral proteins

C. Immunosuppressive drugs

D. Antibiotics

https://dl.doubtnut.com/l/_JNaPGcnlo0Ty
https://dl.doubtnut.com/l/_iWpMg741QJnl


Answer: B

Watch Video Solution

36. The permissible use of the technique

amniocentesis is for :

A. Detecting sex of the unborn foetus

B. Artificial insemination

C. Transfer of embryo into uterus of

surrogate mother

https://dl.doubtnut.com/l/_iWpMg741QJnl
https://dl.doubtnut.com/l/_qPIcOR6WJGPX


D. Detecting any genetic incompatibility

Answer: D

Watch Video Solution

37. Cu ion released from copper-releasing intra

Uterine Devices (IUDs)

A. Make uterus unsuitable for implantation

B. Increase phagocytosis of sperms

C. Suppress sperm motility

https://dl.doubtnut.com/l/_qPIcOR6WJGPX
https://dl.doubtnut.com/l/_fD0G78SgjROx


D. Prevent ovulation

Answer: C

Watch Video Solution

38. Progestin-estradiol combined

contraceptive pills inhibit ovulation by

A. Negative feedback on the release of

estrogen from ovary required for

follicular development in follicular phase

https://dl.doubtnut.com/l/_fD0G78SgjROx
https://dl.doubtnut.com/l/_1QYJp80LFKEj


B. Preventing the uterine physiological and

morphological changes required for

implantation

C. Inhibiting the secretion of FSH and LH

that are necessary for ovulation

D. Both (a) and (c)

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_1QYJp80LFKEj


39. Cu-T prevents pregnancy by preventing

A. Fertilization

B. Ovulation

C. Implantation of fertilized egg

D. None of these

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_b8oZbFHbiAOc


40. Oral contraceptive pills help in birth

control by

A. Killing sperms

B. Killing ova

C. Preventing ovulation

D. Forming barrier between sperms and

ova

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_kD8LCOLbl6Gv


41. Which one of the following is the most

widely accepted method of contraception in

India, at present ?

A. Cervical caps

B. Tubectomy

C. Diaphragms

D. IUDs (Intra-uterine devices)

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_kD8LCOLbl6Gv
https://dl.doubtnut.com/l/_4CCX1hLjWw0v


42. Medical Termination of Pregnancy (MTP) is

considered safe up to how many weeks of

pregnancy ?

A. Eight weeks

B. Twelve weeks

C. Eighteen weeks

D. Six weeks

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_4CCX1hLjWw0v
https://dl.doubtnut.com/l/_riuEIIl8IjPe


43. Saheli' is :

A. An oral contraceptive for females

B. A surgical sterilization method for

females

C. A diaphragm for females

D. A surgical sterilization method of males

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_riuEIIl8IjPe
https://dl.doubtnut.com/l/_iApyzrWlVf48


44. Which of the following is STD?

A. Cancer

B. Malaria

C. Pneumonia

D. Trichomoniasis

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_iApyzrWlVf48
https://dl.doubtnut.com/l/_eu1lHWJuit7l
https://dl.doubtnut.com/l/_5LUmphK7mcbR


45. The test-tube baby programme employs

which one of the following techniques

A. Intra-Cytoplasmic Sperm Injection (ICSI)

B. Intra-Uterine Insemination (IUI)

C. Gamete Intra-Fallopian Transfer (GIFT)

D. Zygote Intra-Fallopian Transfer (ZIFT)

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_5LUmphK7mcbR


46. A vasectomy-

A. Prevents the production of sperms in

the testes

B. Prevents the production of semen

C. Prevents the movement of sperms into

the urethra

D. Prevents from having erection

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_tAUem5SQuDCL


47. It is a disease which mainly affects mucous

membrane of urinogenital tract. In males,

burning feeling on passing urine, after a

yellow discharge occurs, that is accompanied

by fever, headache and feeling of illness. Its

name is

A. Syphilis

B. Gonorrhoea

C. AIDS

D. None of these

https://dl.doubtnut.com/l/_tAUem5SQuDCL
https://dl.doubtnut.com/l/_F4jAKmrtMoaQ


Answer: B

Watch Video Solution

48. Which one of the following groups

includes all sexually transmitted diseases ?

A. AIDS, syphilis, cholera

B. HIV, malaria, trichomoniasis

C. Gonorrhoea, hepatitis B, chlamydiosis

D. Hepatitis-B, haemophilia, AIDS

https://dl.doubtnut.com/l/_F4jAKmrtMoaQ
https://dl.doubtnut.com/l/_GHA1k7EVSkXE


Answer: C

Watch Video Solution

49. One of the legal methods of birth control

is

A. Abortion by taking an appropriate

medicine

B. By abstaining from coitus from day 10 to

17 of the menstrual cycle

https://dl.doubtnut.com/l/_GHA1k7EVSkXE
https://dl.doubtnut.com/l/_XC4xjwkVeXRp


C. By having coitus at the time of day break

D. By a premature ejaculation during

coitus.

Answer: A

Watch Video Solution

50. Which of the following cannot be detected

in a developing foetus by amniocentesis?

A. Klinefelter syndrome

https://dl.doubtnut.com/l/_XC4xjwkVeXRp
https://dl.doubtnut.com/l/_9ZhJYB3SsI57


B. Sex of the foetus

C. Down syndrome

D. Jaundice

Answer: D

Watch Video Solution

51. Artificial insemination means

A. Transfer of sperms of a healthy donor to

a test tube containing ova

https://dl.doubtnut.com/l/_9ZhJYB3SsI57
https://dl.doubtnut.com/l/_qPtdc0nloG4k


B. Transfer of sperms of husband to a test

tube containing ova

C. Artificial introduction of sperms of a

healthy donor into the vagina

D. Introduction of sperms of a healthy

donor directly into the ovary

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_qPtdc0nloG4k


52. Induced abortion is also called .

A. STD

B. MTP

C. IUD

D. PID

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_9p9IQbHb92Fg


53. Oral contraceptives prevent pregnancy by:

A. Killing the ovum

B. Blocking fertilization

C. Preventing ovulation

D. Preventing implantation

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_TsXBQgwgpZAJ


54. Vaults are meant for:

A. Birth control

B. Amniocentesis

C. Reproduction

D. Bleeding

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_ygVvEuvMjen4


55. Diaphragms are meant for:

A. Amniocentesis

B. Reproduction

C. Birth control

D. Sterilization

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_uRLEOTC3nMGi


56. Cervical caps are meant for:

A. Reproduction

B. Birth control

C. Amniocentesis

D. Lactation

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_XLSEScFM4DiB


57. Prenatal diagnostic technique is known as:

A. Implantation

B. Amniocentesis

C. Parthenogenesis

D. Biomedical termination of pregnancy

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_NwLw8HtGldGH


58. Tubectomy is a method of sterilization in

which :

A. Small part of the fallopian tube is

removed or tied up

B. Ovaries are removed surgically

C. Small part of vas deferens is removed or

tied up

D. Uterus is removed surgically

Answer: A

https://dl.doubtnut.com/l/_Jxw2v3EoW42v


Watch Video Solution

59. Which of the following is a hormone

releasing Intra Uterine Device (IUD)

A. Multiload-375

B. LNG-20

C. Cervical cap

D. Vault

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_Jxw2v3EoW42v
https://dl.doubtnut.com/l/_Tqt8VrsfsI16


60. Assisted reproductive technology, IVF

involves transfer of

A. Ovum into the fallopian tube

B. Zygote into the fallopian tube

C. Zygote in the uterus

D. Embryo with 16 blastomeres into the

fallopian tube.

Answer: B

https://dl.doubtnut.com/l/_Tqt8VrsfsI16
https://dl.doubtnut.com/l/_g2QMbuAV2GVx


Watch Video Solution

61. Which of the following viruses is not

transferred through semen of an infected

male

A. Hepatitis B virus

B. HIV

C. Chikungunya Virus

D. Ebola Virus

Answer: C

https://dl.doubtnut.com/l/_g2QMbuAV2GVx
https://dl.doubtnut.com/l/_simkFS7bXoGq


Watch Video Solution

62. Which of the following is not a sexually

transmitted disease?

A. Syphilis

B. AIDS

C. Trichomoniasis

D. Encephalitis

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_simkFS7bXoGq
https://dl.doubtnut.com/l/_BsclzFBMjqIP


63. Hysterectomy is surgical removal of

A. Uterus

B. Prostate gland

C. Vas deferens

D. Mammary glands

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_BsclzFBMjqIP
https://dl.doubtnut.com/l/_sZsjsb5Vn8ly
https://dl.doubtnut.com/l/_UqOjDaO8UYfo


64. A childless couple can be assisted to have a

child through a technique called GIFT. The full

form of this technique is :

A. Gamete inseminated fallopian transfer

B. Gamete intrafallopian transfer

C. Gamete internal fertilization & transfer

D. Germ cell internal fallopian transfer

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_UqOjDaO8UYfo


65. Hormone releasing IUD is

A. LNG-20

B. Lippe's loop

C. Cu-T

D. Multiload-375

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_kKmPCENitWi7


66. Which of the following sterilization

method is used in human males?

A. Tubectomy

B. Vasectomy

C. Both (a) and (b)

D. None of these

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_LXATSHbvnMzR
https://dl.doubtnut.com/l/_I4Pq3e5bV2dm


67. Sterilization in males is performed

surgically by :

A. Tubectomy

B. Vasectomy

C. Laparotomy

D. Hysterectomy

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_I4Pq3e5bV2dm


68. In vitro fertilization or test tube baby

technique involves :

A. Fertilization outside the female body

B. Development of foetus in a test tube

C. Both of these

D. None of these

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_Hmc1fHohM4qG
https://dl.doubtnut.com/l/_0oaywTajl9B8


69. Which of the following is hormone-

releasing IUD ?

A. Cu-7

B. LNG-20

C. Multiload-375

D. Lipple's loop

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_0oaywTajl9B8


70. Which of the following is incorrect

regarding vasectomy?

A. Irreversible sterility

B. No-sperm occurs in seminal fluid

C. No sperm occurs in epididymis

D. Vasa deferentia are cut and tied

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_0jRwOIFXzZFl
https://dl.doubtnut.com/l/_a8Zoj9gTKjG0


71. Embryo with more than 16 blastomeres

formed due to in vitro ferilization is

transferred into

A. Cervix

B. Uterus

C. Fallopian tube

D. Fimbriae

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_a8Zoj9gTKjG0
https://dl.doubtnut.com/l/_EWurlDH1wZPo


72. In context of Amniocentesis, which of the

following statement is incorrect?

A. It can be used for detection of cleft

palate

B. It is usually done when a woman is

between 14-16 week pregnancy

C. It is used for prenatal sex-determination

D. It can be used to detect Down syndrome

Answer: A

https://dl.doubtnut.com/l/_EWurlDH1wZPo


Watch Video Solution

73. Which of the following approaches does

not give the defined action of contraceptive? 

View Text Solution

74. Which one of the following is a barrier

method of contraception?

A. tubectomy

https://dl.doubtnut.com/l/_EWurlDH1wZPo
https://dl.doubtnut.com/l/_X3miXxxCQiYh
https://dl.doubtnut.com/l/_Yl1kuiob9mUU


B. IUCD

C. Diaphragm

D. Contraceptive pill

Answer: C

Watch Video Solution

75. Which of the following is an IUCD?

A. Copper-T

B. Oral pills

https://dl.doubtnut.com/l/_Yl1kuiob9mUU
https://dl.doubtnut.com/l/_hn07SgkI2KtG


C. Diaphragam

D. Tubectomy

Answer: A

Watch Video Solution

76. Which of the following is hormone

releasing IUD ?

A. Cu-T

B. Cu-7

https://dl.doubtnut.com/l/_hn07SgkI2KtG
https://dl.doubtnut.com/l/_9TqaGeoGkGC3


C. Both (a) and (b)

D. LNG-20

Answer: D

Watch Video Solution

77. MPT is considered safe to how many weeks

of pregnany

A. 6 weeks

B. 18 weeks

https://dl.doubtnut.com/l/_9TqaGeoGkGC3
https://dl.doubtnut.com/l/_xsqCLdmDpmKr


C. 12 weeks

D. 8 weeks

Answer: C

Watch Video Solution

78. In case of a couple where the male is

having a very low sperm count, which

technique will be suitable for fertilisation

A. Intrauterine transfer

https://dl.doubtnut.com/l/_xsqCLdmDpmKr
https://dl.doubtnut.com/l/_bvuQ5yOKAdKq


B. Gamete Intra-Fallopian Transfer

C. Artificial Insemination

D. Intra-cytoplasmic Sperm Injection

Answer: C

Watch Video Solution

79. The function of copper ions in copper

releasing IUDs is

https://dl.doubtnut.com/l/_bvuQ5yOKAdKq
https://dl.doubtnut.com/l/_gTI2sL5LWkxU


A. They suppress sperm motility and

fertilising capacity of sperms

B. They inhibit gametogenesis

C. They make uterus unsuitable for

implantation

D. They inhibit ovulation

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_gTI2sL5LWkxU


80. The function of copper-T is to prevent:

A. Fertilisation

B. Egg maturation

C. Ovulation

D. none

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_hyIO78IGle1a


81. Which one of the following is an example of

surgical method of contraception?

A. Vasectomy

B. Condom

C. IUD

D. Diaphragm

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_7vDTCa4HmOzM
https://dl.doubtnut.com/l/_3YF9yMWFNHDZ


82. The contraceptive 'SAHELI'

A. Blocks estrogen receptors in the uterus

preventing eggs from implantation

B. is an IUD

C. Increases the concentration of

estrogens and prevents ovulation in

females

D. Is a post-coital contraceptive

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_3YF9yMWFNHDZ


83. Which of the following contraceptive

methods Involve a role of horrnone ?

A. Lactational amenorrhea, Pills, Emergency

contraceptives

B. Barrier method, Lactational amenorrhea,

Pills

C. Cu-T, Pills, Emergency contraceptives

https://dl.doubtnut.com/l/_3YF9yMWFNHDZ
https://dl.doubtnut.com/l/_L31ghnulK7Ug


D. Pills, Emergency contraceptives, Barrier

methods

Answer: A

Watch Video Solution

84. Select the hormone-releasing Intra-Uterine

Devices.

A. Vaults, LNG-20

B. Multiload-375, Progestasert

https://dl.doubtnut.com/l/_L31ghnulK7Ug
https://dl.doubtnut.com/l/_UKbxOH7bQaHg


C. Progestasert, LNG-20

D. Lippe's loop, multiload-375

Answer: C

Watch Video Solution

85. The permissible use of the technique

amniocentesis is for :

A. Detecting sex of the unborn foetus

B. Artificial insemination

https://dl.doubtnut.com/l/_UKbxOH7bQaHg
https://dl.doubtnut.com/l/_WjGsJ7PGcs9L


Competition File Objective Type Question B

Matching Type Question

C. Transfer of embryo into uterus of a

surrogate mother

D. Detecting any genetic abnormality

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_WjGsJ7PGcs9L


Competition File Objective Type Question C

Assertion Reason Type Question

1. Match the terms in column A with suitable

terms in column B : 

View Text Solution

1. Assertion : Potential natality is never

realized. 

https://dl.doubtnut.com/l/_QlqgAFeX3nwv
https://dl.doubtnut.com/l/_2SC0LS2cXHfW


Reason: Biotic potential is resisted by

environmental resistance

A. If both Assertion cord Reason are true

and Reason is correct explanation of

Assertion

B. If both Assertion and Reason are true

but Reason is not correct explanation of

Assertion

C. If Assertion is true but Reason is false.

D. If both Assertion and Renson are false.

https://dl.doubtnut.com/l/_2SC0LS2cXHfW


Answer: A

Watch Video Solution

2. Assertion: Overpopulation causes a number

of socio-economic problems 

Reason: A number of bacterial and viral

diseases have been controlled

A. If both Assertion cord Reason are true

and Reason is correct explanation of

Assertion

https://dl.doubtnut.com/l/_2SC0LS2cXHfW
https://dl.doubtnut.com/l/_qKXsNaW9fFE2


B. If both Assertion and Reason are true

but Reason is not correct explanation of

Assertion

C. If Assertion is true but Reason is false.

D. If both Assertion and Renson are false.

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_qKXsNaW9fFE2


3. Assertion: U.P. and Bihar have high TFR. 

Reason: Polygamy is very common in these

states.

A. If both Assertion cord Reason are true

and Reason is correct explanation of

Assertion

B. If both Assertion and Reason are true

but Reason is not correct explanation of

Assertion

C. If Assertion is true but Reason is false.

https://dl.doubtnut.com/l/_HeM1nb8G7led


D. If both Assertion and Renson are false.

Answer: A

Watch Video Solution

4. Assertion : Test tube baby has raised several

legal problem. 

Reason : It involves in vitro fertilization

followed by embryo transfer.

https://dl.doubtnut.com/l/_HeM1nb8G7led
https://dl.doubtnut.com/l/_vnNQGvDujUei


A. If both Assertion cord Reason are true

and Reason is correct explanation of

Assertion

B. If both Assertion and Reason are true

but Reason is not correct explanation of

Assertion

C. If Assertion is true but Reason is false.

D. If both Assertion and Renson are false.

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_vnNQGvDujUei


5. Assertion: In India, there is rapid, decline in

infant mortality rate and MMR. 

Reason: In India, more and more attention is

being given to RCH programmes.

A. If both Assertion cord Reason are true

and Reason is correct explanation of

Assertion

B. If both Assertion and Reason are true

but Reason is not correct explanation of

https://dl.doubtnut.com/l/_vnNQGvDujUei
https://dl.doubtnut.com/l/_rwSl2Ia6z2oH


Assertion

C. If Assertion is true but Reason is false.

D. If both Assertion and Renson are false.

Answer: A

Watch Video Solution

6. Assertion : Annual growth rate of Indian

population has declined from 2.22% in 1981 to

1.8% in 2001. 

https://dl.doubtnut.com/l/_rwSl2Ia6z2oH
https://dl.doubtnut.com/l/_nRQ7zSZ5A8DC


Reason: More and more Indians are shirking

from adopting family planning measures.

A. If both Assertion cord Reason are true

and Reason is correct explanation of

Assertion

B. If both Assertion and Reason are true

but Reason is not correct explanation of

Assertion

C. If Assertion is true but Reason is false.

D. If both Assertion and Renson are false.

https://dl.doubtnut.com/l/_nRQ7zSZ5A8DC


Answer: C

Watch Video Solution

7. Assertion : Sex education in schools is not

necessary. 

Reason: Sex education may increase certain

myths and conceptions in the students.

A. If both Assertion cord Reason are true

and Reason is correct explanation of

Assertion

https://dl.doubtnut.com/l/_nRQ7zSZ5A8DC
https://dl.doubtnut.com/l/_otQkYmxlIid9


B. If both Assertion and Reason are true

but Reason is not correct explanation of

Assertion

C. If Assertion is true but Reason is false.

D. If both Assertion and Renson are false.

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_otQkYmxlIid9


8. Assertion: Now-a-days, there are less

childless couples. 

Reason: A number of measures are now

available by which even infertile couples can

have child.

A. If both Assertion cord Reason are true

and Reason is correct explanation of

Assertion

B. If both Assertion and Reason are true

but Reason is not correct explanation of

https://dl.doubtnut.com/l/_mykEz6IpoDT4


Assertion

C. If Assertion is true but Reason is false.

D. If both Assertion and Renson are false.

Answer: A

Watch Video Solution

9. Assertion: Copper-T is an effective

contraceptive device in human females. 

Reason: Copper-T prevents passage of sperms

from vagina upwards into Fallopian tubes.

https://dl.doubtnut.com/l/_mykEz6IpoDT4
https://dl.doubtnut.com/l/_ngxBP4FxvHYF


A. If both Assertion cord Reason are true

and Reason is correct explanation of

Assertion

B. If both Assertion and Reason are true

but Reason is not correct explanation of

Assertion

C. If Assertion is true but Reason is false.

D. If both Assertion and Renson are false.

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_ngxBP4FxvHYF


10. Assertion : In India, the human population

is currently undergoing the lag phase. 

Reason: A major portion of Indian population

is still below proverty line.

A. If both Assertion cord Reason are true

and Reason is correct explanation of

Assertion

B. If both Assertion and Reason are true

but Reason is not correct explanation of

https://dl.doubtnut.com/l/_ngxBP4FxvHYF
https://dl.doubtnut.com/l/_1ApVg5AFc23z


Assertion

C. If Assertion is true but Reason is false.

D. If both Assertion and Renson are false.

Answer: D

Watch Video Solution

11. Assertion : Amniocentesis is a process of

foetal sex determination. 

Reason : Metabolic errors and other diseases

can be diagnosed prenatally by this process.

https://dl.doubtnut.com/l/_1ApVg5AFc23z
https://dl.doubtnut.com/l/_C5iJDNb83JBG


A. If both Assertion cord Reason are true

and Reason is correct explanation of

Assertion

B. If both Assertion and Reason are true

but Reason is not correct explanation of

Assertion

C. If Assertion is true but Reason is false.

D. If both Assertion and Renson are false.

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_C5iJDNb83JBG


Chapter Practice Test Section A Multiple Choice

Question

1. World Population Day is celebrated on:

A. 11th may

B. 11th June

C. 11th July

D. 11th August

Answer: C

https://dl.doubtnut.com/l/_C5iJDNb83JBG
https://dl.doubtnut.com/l/_CY2d98RYbOaC


Watch Video Solution

2. The world's first test tube baby was:

A. Kanupriya Aggarwal

B. Louise Joy Brown

C. Lesley Brown

D. Gilbert Brown

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_CY2d98RYbOaC
https://dl.doubtnut.com/l/_yTqVbxozpySQ


3. Most common bacterial STD is:

A. Chlamydiosis

B. Gonorrhoea

C. Syphilis

D. Genital Herpes

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_yTqVbxozpySQ
https://dl.doubtnut.com/l/_oqszi0KclGIM


4. The correct surgical procedure as a

contraceptive method is :

A. Ovariectomy

B. Hysterectomy

C. Castration

D. Tubectomy

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_Cdvn7F9gPHSN
https://dl.doubtnut.com/l/_s13YhhKB0rbb


5. Male infertility due to failure of testes to

descend into scrotal sacs is called

A. Castration

B. Azoospermia

C. Cryptorchidism

D. Scrotal hernia

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_s13YhhKB0rbb


6. The test-tube baby programme employs

which one of the following techniques

A. ICSI

B. IUT

C. GIFT

D. ZIFT

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_pLuzA19v9j9n


Chapter Practice Test Section B Short Answer

Type I Question

1. Define artifical insemination. Write down two

advantages of it.

Watch Video Solution

2. What is amniocentesis? Why is

amniocentesis now banned?

Watch Video Solution

https://dl.doubtnut.com/l/_BfugEpJRZ084
https://dl.doubtnut.com/l/_b1TyKsc5HVln


3. What is reproductively healthy society ? List

two measures taken to maintain a

reproductively healthy society.

Watch Video Solution

4. Define population explosion. Last the causes

of it.

Watch Video Solution

https://dl.doubtnut.com/l/_db2xQPWb5VjO
https://dl.doubtnut.com/l/_pWKinhGKEPQM


Chapter Practice Test Section C Short Answer

Type Ii Question

1. What are STDs ? Name one bacterial and one

viral STD. How can they be prevented?

Watch Video Solution

2. Difine medical termination of pregnancy

(MTP).

Watch Video Solution

https://dl.doubtnut.com/l/_nNeDhcHHhsLQ
https://dl.doubtnut.com/l/_G4XUuRpRcQwd


3. (i) State four ill-effects of human over-

population. 

(ii) Discuss the role of Family planning

programme to control overpopulation.

Watch Video Solution

4. Define infertility. Last two causes of each of

male infertility and female infertility

Watch Video Solution

https://dl.doubtnut.com/l/_e073kOcOXPeo
https://dl.doubtnut.com/l/_JryTD6hKeuy8


Chapter Practice Test Section D Case Based

Answer Question

1. Sexually transmitted diseases (STDs) are

those infections and communicable diseases

which are transmitted from an infected person

to a healthy but susceptible person during

unprotected vaginal or anal or oral sexual

contact. These are also called silent infections

as well as international diseases. These may be

bacterial or viral or protozoan or fungal in

origin. Out of STDs, chlamydiasis is the most

https://dl.doubtnut.com/l/_C9VqUqPp8Qpl


common bacterial STD. A case-controlled study

of the prevalence of genital chlamydiasis in a

study group of 120 patients with tubal

infertility and a control group of another 120

clients following family planning measures.

The prevalence was found to 38.3% in the

study group while it was found to be 13.3% in

the control group. 

Answer the following questions on STDs: 

(i) What is causative agent of chlamydiasis? (ii)

List the symptoms of it in human female. (iii)

What is indicated by the higher prevalence of

https://dl.doubtnut.com/l/_C9VqUqPp8Qpl


Chapter Practice Test Section D Long Answer

Question

tubal infertility in the study group than the

control group?

View Text Solution

1. (a) Give the full form of ARTS. Give their

significance. (b) Describe any three techniques

used in ARTS.

Watch Video Solution

https://dl.doubtnut.com/l/_C9VqUqPp8Qpl
https://dl.doubtnut.com/l/_eStlNVBp1q3r


2. (a) Define contraceptives. List characteristics

of an ideal contraceptive. (b) Discuss the role

of oral pills in birth control. (c) Name a

hormone-releasing IUD.

Watch Video Solution

https://dl.doubtnut.com/l/_eStlNVBp1q3r
https://dl.doubtnut.com/l/_drozqBqC5Hq2

